CAN YOU?
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.27.47 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.28.36 PM.png]


CAN YOU?
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.27.47 PM.png]
[bookmark: _GoBack][image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.28.36 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.28.53 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.29.24 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.29.34 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.29.45 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.29.58 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.30.13 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.30.26 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.30.32 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.31.12 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.31.28 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.31.38 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.31.51 PM.png]
[image: Macintosh HD:Users:jnorrish:Desktop:Screen Shot 2014-02-20 at 5.32.06 PM.png]
image6.png

image7.png
8  The scatterplot opposite shows the weight at
age 21 and weight at birth of 12 women. The
relationship displayed is best described as a:
A weak positive lincar relationship
B weak negative lincar relationship
C moderate positive non-linear relationship
D strong positive non-linear relationship

E strong positive linear relationship 152 B‘f‘-: wjlghl;ég)‘ 45

9 The variables Response time to a drug and Drug dosage are lincarly related with
r=-09.
From this information, we can conclude that:
A response times arc —0.9 times the drug dosage
B that responsc times decrease with decreased drug dosage
C that response times decrease with increased drug dosage
D that response times increase with increased drug dosage
E response times are 81% of the drug dosage

Woight at 21 years (kg)
589 28
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‘The birth weight and weight at age 21 of eight women are given in the table below.

Birth weight | 19 | 24| 26| 27| 29| 32 34| 36
Weight at21 | 47.6 | 53.1 | 52.2 | 56.2 | 57.6 | 59.9 | 55.3 | 56.7

‘The value of the correlation coefficient is closest to:

A 0536 B 0.6182 C 0.7863 D 0.8232 E 0.8954

‘The value of a correlation coefficient is r = —0.7685. The value of the

corresponding coefficient of determination is closest to:

A —0.7685 B —0.5906 C 02315 D 0.5906 E 0.7685

‘The relationship between heart weight and body weight in a group of mice is

lincarly related with a correlation coefficient of r = 0.765. Heart weight s the DV.

From this information, we can conclude that:

A 58.5% of the variation in heart weights can be explained by the variation in
body weights

B 76.5% of the variation in heart weights can be explained by the variation in
body weights

C heart weights are 58.5% of body weights

D heart weights are 76.5% of body weights

E 58.5% of the mice had heavy hearts




image9.png
13 We wish to display the relationship between the variables Height (in kg) of young
children and Level of nutrition (poor, adequate, good). The most appropriate
graphical display would be:

A ahistogram B parallel box plots € a segmented bar chart
D ascatterplot E a back-to-back stem plot
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14 We wish to display the relationship between the variables Weight (under-weight,
normal, over-weight) of young children and Level of nutrition (poor, adequate,
g0od). The most appropriate graphical display would be:

A ahistogram B parallel box plots € a segmented bar chart
D ascatterplot E a back-to-back stem plot

15 There is a strong linear positive relationship (- = 0.85) between the amount of
Garbage recycled and Salary level. From this information, we can conclude that:
A the amount of garbage recycled can be increased by increasing people’s salarics
B the amount of garbage recycled can be increased by decreasing people’s salaries
C increasing the amount of garbage you recycle will increase your salary
D people on high salaries tend to recycle less garbage
E people on high salaries tend to recycle more garbage
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1 One thousand drivers who had an accident during the past year were classified
according to age and the number of accidents.

Number of accidents Age<30 | Age>30
At most one accident 130 170
More than one accident 470 230
Total 600 400

‘What are the variables shown in the table? Are they categorical o numerical?
Determine which is the dependent and which is the independent variable.

How many drivers under the age of 30 had more than one accident?

Percentage the cells in the table. Calculate column percentages.

Use these percentages to comment on the statement: * Younger drivers (age < 30)
are more likely than older drivers (age > 30) to have had more than one accident.’

o Ba T
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2 It was suggested that day and evening students differed in their satisfaction with a
course in psychology. The following crosstabulation was obtained:

Tpe of student
Level of satisfaction with course | Day  Evening
| Satisfied % 2
| Neutral 18 5
| Dissatisfied 12 3
| Towal 120 30

2 Name the dependent variable.
b How many students were involved?
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¢ Calculate the appropriate column percentages and write them down in an

appropriate table.
d Dos there appear to be a relationship between satisfaction with the course and

the type of student in the sample? Fully explain your answer.
e Comment on the statement:

“There was greater satisfaction with the psychology course among day students

as 90 day students were satisfied with the course while only 22 evening

students were satisfied.’
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3 The parallel box plots below compare the distribution of age at marriage of 45
married men and 38 married women.

women
(n=38)

-

0 20 30 40 50
Age at marriage (years)

a The two variables displayed here arc Age af marriage and Sex. Which is the
‘numerical and which is the categorical variable?

b Do the parallel box plots support the contention that the age a person marties
depends on their sex? Explain why.

men
(n=45)
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4 The data below gives the hourly pay rate (in dollars per hour) of 10 production-line
workers along with their years of experience on initial appointment.

Rate ($/h) 15.90|15.70/16.10/16.00 16.79|16.45|17.0017.65| 18.10|18.75
\Experience (yrs)| 1.25| 1.50| 2.00| 2.00| 2.75 4.00| 5.00| 6.00| 8.00|12.00

Use a calculator to construct a scatterplot of the data with Rate plotted on the
vertical axis and Experience on the horizontal axis. Why has the vertical axis
been used for rate?

Comment on direction, outliers, form and strength of any relationship revealed.
Determine the value of the correlation coefficient (+) correct to three decimal
places.

d Determine the value of the coefficient of determination (+2) and interpret.

o
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W interpret the information contained in a two-way frequency table
W identify, where appropriate, the dependent and independent variable in a
relationship
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identify a relationship in tabulated data by forming and comparing appropriate
percentages

represent a two-way percentaged frequency table by a scgmented bar chart and
interpret the chart

choose among a scatterplot, segmented bar chart and parallel boxplots as a means
of graphically displaying the relationship between two variables

construct a scatterplot

use a scatterplot to comment on the following aspect of any relationship present:

« direction (positive or negative association) and possible outliers

« form (lincar or non-lincar)

« strength (weak, moderate, strong)

calculate and interpret the correlation coefficient r

know the three key assumptions made when using Pearson’s correlation cocfficient
as a measure of the strength of the relationship between two variables, that is:

* the variables are numeric

+ the relationship is linear

« 1o clear outliers

calculate and interpret the cocfficient of determination

identify situations where unjustified statements about causality could be (or have
‘been) made
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The information in the following frequency table relates to Questions 1 to 4

68 79
34
102 175

1 The variables Plays sport and Sex are:
A both categorical variables
B a categorical and a numerical variable respectively
C a numerical and a categorical variable respectively
D both numerical variables
E neither a numerical nor a categorical variable

2 The number of females who o not play sport is
A 21 B 45 c79 D 9% E 175
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3 The percentage of males who do not play sportis
A 194% B 333% C 340% D 66.7% E 68.0%

4 The variables Plays sport and Sex appear to be related because
A more females play sport than males
B less males play sport than females
C a higher percentage of females play sport compared to males
D a higher percentage of males play sport compared to females
E both males and females play a lot of sport
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The information in the following parallel boxplots relates to Questions 5 and 6
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‘The parallel boxplots above display the distribution of battery life (in hours) for two
brands of batteries (Brand A and Brand B).
5 The variables Battery life and Brand are:

A both categorical variables

B a categorical and a numerical variable respectively

C anumerical and a categorical variable respectively

D both numerical variables

E neither a numerical nor a categorical variable
6 Which of the following statements (there may be more than one) support the

contention that Battery [ife and Brand are related?

I the median battery life for Brand A is clearly higher than for Brand B
I battery lives for Brand B are more variable than Brand A
Il the distribution of battery lives for Brand A s symmetric with outliers but
positively skewed for Brand B
Alonly B llonly C Ilonly D Iandllonly E I, MandIIl
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